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a— K g % Pk (kg) %8 (F) =il g 2l PE Mt (BfLD)
30100 72W\WZ A 146 3,618 65 11 5| &M 1464
30200 a4 14 240 11 3 21 BW 467
31100 |H3E 45 400 162 119 119 | B 3 —=A
31200 LR 3 551 32 32 32| BAY 173
Y3015 |7 ¥ v 3 216 22 22 22| B 103
32600 F% 3 421 32 32 32| BN 133
31700 | F ¥ XY 30 648 216 216 216 | BN 310
31700 | F XY 60 918 216 216 54| BN 65— A
31800 1EHAAE 30 14, 904 119 108 76 | BN 15238
131900 ¥ 3 324 108 108 108 | B/ 3kg
35220 | & M EHE 5 3, 208 648 648 648 | B 5kg
35300 | B°— % 2 2,376 1,188 1,188 188 | &M 2kg
35303 ATy TEIAED 9 1, 858 216 216 216 | BN 9kg
Y3115 |EXALED 1 216 216 216 216 | BA kg
35400 DL ED 1 313 324 216 | 216 | BN kg
Y3033 | ZHAL 139 6, 966 54 54 43| B 1139kg
36200 | i 50 1, 620 32 32 32| BH '50kg
36260 iz Lwpl=n» 230 22, 896 1,080 1, 080 756 | B 2347 — A
33410 | H=—1L & 5 583 22 22 22| BA 2748
33300 Tmyal— 4 605 43 43 43 | BN 141#
Y3017 &t Y 1,296 648 648 648 | BN 2kg
36340 B LR REHE 20 4, 493 281 281 162 | B 120kg
41390 IFAMA 53 3, 866 238 238 108 | BN 19% v k
41806 1AM A 94 35,316 810 810 648 | BN 47% v b
46108 | XD 65 79, 731 378 378 216 | BN 2183y 7
71011 [ AT L—3 52, 704 49 49 38 BN 1, 1304
1 Z1150 | LiE 3,240 65 59 32 BN 603
53456 | T A il 3 842 324 324 324 | BN 3kg
53101 [1F L KR 1 540 " 540 540 540 | B lkg
Y5010 ‘ob&RE (H) 2 1,069 594 594 594 | B5 /Y 2kg
30100 |75V 2 A L 50 1, 836 54 32 32 IR 504
30300 'A% M 80 5,616 1,404 1,404 404 |REAR 4 — 2
30300 | A& 70 3, 888 756 756 324 |[FEIR B jﬁ
30600 NAZA 2L 16 648 216 216 108 |48 44— A
31100 H¥ 165 4, 180 540 356 281 | B 11—
33810 |FHER 8 1,296 32 32 32 BIRE 404%
31700  F ¢~ 40 864 216 216 86 | FEIR G 44—
31800 1E D NLAEL 4 1, 080 54 54 54 | EEIRE 204%
31950 HAQE L 18 4, 644 864 756 756 |EEIR B 64— A
31930 ¥ 2,959 54 32 24 1 BIRE 9048
32800 {26 3,510 70 70 70 B I 503




& R | R A £
a—K e ik | PR (kg) &% (1) i i FE PE (BAL)
34300 | 729 L 15 4,212 1, 404 1, 404 1, 404 |REA 37— 2
34400 | b= k 2S 36 11,016 1,296 1,296 1, 080 | gEA 94— 2
34400 | b= b N 7 2,333 97 97 97 |REA 248y 7
34460 |I =& F & M 5 3, 370 140 140 140 |FEEIR B 24,3 7
34100 | A/ 100 28, 620 1,836 1, 404 1,296 | = I 12047 — A
| 34100 |HAJK 45 7,776 1,296 648 648 | IR & 97—
£ 34200 |E/I 30 6, 156 216 216 184 | = = ——" 30kg
| A
34571 17U B GR) 1 691 108 108 86 |EE[E &
34572 (X7 VA () 1 691 108 108 86 | #[E 1T{E
136600 |7mFhE LKk 20 4, 320 4,320 4,320 4,320 |db¥EE I —=
137200 L x9N 2L 8 2,376 1,296 1,296 1,080 |HE 24—
33420 Y —rYU—TLER 5 91 5 5 2 |BEA 24{H
32900 |[EAY— 1 173 173 173 173 | & 1A
33600 |/t Y 1 270 108 108 54 | & RE]
33300 [ Tmyal— 4 518 43 43 43| BERE 1218
38100 |AE LW\ izt 12 7,992 76 65 65 | & I 12073 7
31500 |/MASE 8 2,592 65 65 65 | B VL 404%
32500 |#AiE 2 216 11 11 11|t 2051
37560 BT 1 2,268 324 324 324 | K4y 1%y
138521 | BARLOHUH 6 3, 996 140 130 124 | #& [ 3048
40100 | B nA S 5 324 324 324 324 | BIRE 1r—=x
1 Y4017 | 5L 5 972 108 108 108 | &% 1948
43611 |MEERMNE 2L 10 1,296 648 648 648 | $& [ 24— A
49100 |3 FF 120 19, 008 2,484 1,620 1,512\ 74 U Y 104 —R
Y5006 |ERIR (&L 40 6, 588 1,728 1,620 1, 620 | = iR§ 44—
Y5006 |EIR (B5L) 48 7, 452 108 108 108 | =14 69,5
Y5006 | EHR (B54h) 80 19,321 2,516 2,516 2,246 |EIRE 84 — R
Y5006 | Z5H8 (B5h) 56 12,593 161 161 147 |EIR S 80/ 7
‘ ast 2,160 433, 730 |
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